Name: /f) r77e /6’ 4 _ Chapter 4 Review Problems
1. Sketch each angle, in standard position.

A) 60° B) -80° C) 3n/2 D) 3n
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2. Which angle pairs are coterminal?

A) 180°and 360°  B) 37° and 397° C) -90°and -450° D) 37/2 and 57
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3. Find the degree and radian measure of the angle in standard position formed by rotating the terminal side by
the given amount.

A) _1@ of a circle B) 1/60 of a circle
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4. Change to degrees.

A) -127/18 B) 3=n C) 4n/11 D) -3n/8
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5. Change to radians. L é 7
A) 27° B) 18° ) -960" D) 1200°
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6. Find the radian measure of 4 coterminal angles.
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7. The second hand of a clock is 4 mches long. How far does the tip move in 1 minute 50 seconds?
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8. If the radius of a circle is 8 cm and the arc length is 500 cm, what is the radian measure of the angle 67
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9. If the diameter of a circle is 11 cm and the central angle is 2.5 radians, find the arc length.




10. A riding lawn mower has wheels that are 15 inches in diameter, which are turning at 2.5 revolutions per

second.
A) What is the angular speed of a wheel?
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B) How fast is the lawn mower traveling in miles per hour?
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11. A merry-go-round horse is traveling at 10 feet per second when the merry-go-round is making 6 revolutions
per minute. How far is the horse from the center of the merry-go-round?
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